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1. Simplify 41/—32.
4_\‘% 4—\}—_2 L = 4— 4J= c ‘:
BeR -

2. Write in standard form: —2 + 62

Sl 2 46— (TF=20)

= —2 %Z -5 —2c¢
W

= (-2-5)+(bL—=2¢) = RS

— (54 2i).

3. Write in standard form: (—2 + 67)(5 + 27)
=2+ 6¢ (216 ) (520)

o[z = —i0-12 t3oc~4<
o e @ = —22 +26¢
12 5= 12 (4)
= —|2

4. Write in standard form: —2+ gz
-5 —2i
o[ standard fsrm - A+bL

@Ra}ma‘taq, Wwrth, e &W\J“@JL o ~5 20"
(—B-20)- (=5+20) = 25— (00 ~(0C
—G -2¢ =21

—L (55 fIve
20 pAlou)| )|

, -L(sz- _q_:t.‘)zq.



®M“\-tip‘)’ (5+20) oh humepdar ond, fe amownndtor:
<—2+EC>(_STQC> _ (02 “30(7“5(-5 ~ > -3¢0

(—5—=20)-(—5t28) 2| Y
—2+ b - _2 _3C
—s {030/ 2[ =l
‘20 |G@o|(12e2

-2
12¢ = 2(H) =2

5. Solve 22 — 5x + 20 = 0. o
B}l Quadrotie Eamabe A& Bx+C =0 has solatons

X= _ IJC DQ*LF'AE
2 2°A R
> -5 x4=20 =0 e e A =-5§&
A=l B2 S=20 21

. 6. Solve 3z(x 4 2) =2z — 5.
M Siw\e\ﬁloh bsthh siddes.

>
= 33X +6X =2X~5
~ X —=2X

2
= 3K+4xX=-5
~5 <5

S X 4X+5 =0

® By Qudvtic Formdn-  Ags BxtC =0 hos solalws
— p ={(B3-4AC

X=
35X t5 =0 2-A

A=>, (=b
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